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HOflf =%

THX Sy« TH - FERI - A5 B PO B B G AT & #H 2 (A5
EHE R
= 1 90, 407, 854
JE T
= 1 52, 311
Fe T
= 1 52, 311
gt L (-27)
= 1 52, 311
Mgt R T
= 1 89, 559, 352
f;IZIJ_;
= 1 89, 559, 352
P R A AL BR WEVEE 2m<L<b6m i TLHH 10
00m3Lk k= FE{LAERINE 110kg/m3)
m3 4,202 4,209 17, 686, 218
P R A AL BR W EVEE 8m<L=10m fii LHIKEL 1
000m3LL I ELA NS 110kg/!
3
m3 2, 550 4,707 12, 002, 850
P R A AL BR S EVEE 10m<L=13m fi THIE
1000m3L4 £ LM EINE 110kg/|
m3
m3 9,108 4,788 43, 609, 104
P R A AL BR W EVEE 5m<L=8m ffi LHAHL 10
00m3LL k= FE{bAFERINE 90kg/m3
m3 3,679 4,420 16, 261, 180
e
= 1 796, 191
RImE T
= 1 796, 191
ZRFE AR B
= 1 796, 191
B L
= 1 90, 407, 854
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
B ST
= 1 16, 691, 841
BTl TE:
= 1 7,305,519
TR
= 1 1, 637, 500
T RR A Sy PR ST A B
= 1 1, 637, 500
e 2y
= 1 4,766, 570
b E R #z+
= 1 4,766, 570
Htre m
= 1 6, 685
A7 b B
ik 1 6, 685 6, 685
BUGERRYCEE (K5 1)
= 1 894, 764
HimE R (FE L)
= 1 9, 386, 322
Wi
= 1 107, 099, 695
BTk X=giiv oy
= 1 32, 281, 110
R 5]
= 1 139, 380, 805
— e
= 1 22, 629, 195
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
TSk
= 1 162, 010, 000
TH & B 2 %8
= 1 16, 201, 000
TG
= 1 178, 211, 000
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